Name: per

@, Coordinate Geometry
Graph: A(-2,5) B(4,-3) and C(-2,-3)

What is the distance between points’A and B )
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Distance Formula: .‘; :
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d= \/(xz—x1)2 +()’2"')’1)2
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Find the length of the line segment that joins R(-3,6) and S(0,2).
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Find the Lengths from the previous page with this formula.
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Find the midpoint of segment AC with A(7,-3) and C(4,8)
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I\ Midpoint Formula
The midpoint theorem states that for any point A(x,,y,) and

B(X,,Y,) the midpoint of segment AB has coor;iina fs of 4 V=
X +X, YitY, A(%'@ @C(L/’g)
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‘ - If A(-5,4) and B(x,y) are endpoints of segment AB with midpoint
M\§-2,1 ), then what are the coordinates of B?
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